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Ratio to ATLAS

7000 GeV pp Soft QCD
_| T I T I I T I T | T I I T I T |_4(L)
-
140 B Cross section(£>5x10°) ] 2
=
| m ATLAS e
120 — --3-- Herwig 7.0.3 default N
| —a— Pythia 8.301 default 1<
L ¢ Sherpa 2.1.1 default _02'
- -2
100 — —&
I L A &
n A 18
60 — = — <
o =
X
B .,
S S —. |c
40 — —
B 18
- 12
o R
20 — 18
| | | | | | | | | | E
:I ' [ I:
2 & —2
I b ]
B n i
1 B ] 1
.......................................................................... ’
0.5 —0.5
l . . l . l
6999.5 7000 7000.5

sgrt{s} [GeV]



	Contents
	Page 1


